
 

Remember to remove the sun shade canvas during inclement weather to prevent damage                                                         

Step 1 Step 2 

Step 3 Step 4 

This pack includes: 1x left side, 1x right side, 1x top  support brace, 
1x  back trellis, 1x seat base, 1x seat back, 1x canvas roof, 1x roof 
frame, 4x 35mm screws, 8 x 50mm screws, 8 x 70mm screws, 9x 
100mm .  

Position the left and right sides, ensure the tall leg is at 

the front and the support timbers for the seat are on 

the inside. Place the top support brace on the back 

end of the sides flush to the back legs. 

Fix top support bar in place with 2x 50mm screw on 

each end of the bar.  

Position the back trellis between the two sides. Fix in 

place with 2x 50mm screws through the top support 

block. 

www.charlestaylortrading.com 

info@charlestaylortrading.com 

Required 

PZ2 screwdriver 

 

P.T.O 



 

Remember to remove the sun shade canvas during inclement weather to prevent damage                                                         

Step 5 Step 6 

Step 7 Step 8 

Step 9 Step 10 

Insert 4x 35mm screws in the pre-drilled holes down each 

side of the trellis and fix from the back through the support 

bars into the trellis. 

Position the seat base on the supports. 

Fix in position using 8x 70mm screws 4 on each side 

evenly spaced. 

Position the back part of the seat on the framework. 

Fix in place with 1x 100mm screw. 

Position the roof frame on the arbour, ensure it is flush to the back 

legs,  lift the front of  the roof so it is flush with the top of the front 

legs and fix in place with 8 100mm screws. Pull the  canvas sun-

shade over the roof frame, remember to remove the canvas sun 

shade during inclement weather. 


